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organisation.
Imagine you have walked into a meeting with 10 of your
staff. On average, one of the people sitting in that meeting

has already decided they are leaving the organisation.  \yith tight cost containment, I believe that this 36% could
Maybe you know about it ... maybe you don’t. (and should) be shaved back to 20%.

And, on average, 3 people in that meeting want to leave but
something is holding at least 2 of them back. Let’s assume

So, the minimum conservative cost of replacing an employee

is 20% of their annual wage (but is probably higher).
that when that 1 person leaves, that's 10% turnover. Of

course, if the 2n or 31 person leaves, that's 20% or 30% When you apply that across your whole workforce, then the

turnover. numbers can get big.

Yes, | know some of you have 40% turnover and worse, but Where are you on the Employee Turnover Costs Table?

if you do your turnover costings on 10%, then you can just
multiply it by 2, 3 or 4 to get your true impact costs.

Think of the 1 person in that meeting who is leaving. What is
the direct and visible investment you put into them that they
will be taking out of the door and you will never see again?
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